## Adıyaman University Journal of Science

## ADYUSCI

dergipark.org.tr/adyusci

# On The Dynamics of a Nonlinear Difference Equation 

Erkan TAŞDEMİR<br>Kırklareli University, Pinarhisar Vocational School of Higher Education, Kırklareli, Turkey, erkantasdemir@hotmail.com, ORCID Address: https://orcid.org/0000-0002-5002-3193


#### Abstract

In this study we investigate the stability of solutions of difference equation $x_{n+1}=x_{n-3} x_{n-4}-1$. Moreover, we study periodic and eventually periodic solutions of related difference equation.


Keywords: Difference equations, periodicity, stability, eventually periodicity

## Lineer Olmayan Bir Fark Denkleminin Dinamikleri Üzerine

## Özet

Bu çalışmada, fark denkleminin çözümlerinin kararlılığını araştırıldı. Ayrıca, ilgili fark denkleminin periyodik ve eninde sonunda periyodik çözümlerini de çalışıldı.

Anahtar Kelimeler: Fark denklemleri, periyodiklik, kararlılık, eninde sonunda periyodiklik

## 1. Introduction

Due to the fact that most mathematical models need discrete variables, difference equations have great interest in among fields of science. Because, all of difference equations

[^0]consist of these discrete variables. In additions to this, mathematical models apply to different fields in science such as physics, economy, engineering, etc. Many authors have studied the dynamical behaviors of some difference equations, for examples:

In [16], Kent et al studied dynamics of solutions of difference equation

$$
x_{n+1}=x_{n} x_{n-1}-1 .
$$

Furthermore, in [29], Wang et al handled convergence of solutions of related difference equation. Moreover, in [19], Liu et al studied some properties of solutions of related difference equation.

In [17], Kent et al investigated long-term behaviors of solutions of difference equation

$$
x_{n+1}=x_{n-1} x_{n-2}-1 .
$$

In [18], Kent et al dealt with properties of solutions of difference equation

$$
x_{n+1}=x_{n} x_{n-2}-1 .
$$

In [15], Kent et al researched nature of solutions difference equation

$$
x_{n+1}=x_{n} x_{n-3}-1 .
$$

In [26], Tasdemir et al studied long-term behavior of solutions of the difference equation

$$
x_{n+1}=x_{n-1} x_{n-3}-1 .
$$

Moreover, in [27], the authors investigated convergence of negative equilibrium of related difference equation.

In [28], Tasdemir et al handled dynamical analysis of difference equation

$$
x_{n+1}=x_{n-2} x_{n-3}-1 .
$$

Furthermore, there are many books and papers related to difference equations see [1] [29].

In this paper, we study the dynamics of solutions of the following difference equation

$$
\begin{equation*}
x_{n+1}=x_{n-3} x_{n-4}-1, \quad n=0,1, \cdots, \tag{1}
\end{equation*}
$$

with real initial conditions $x_{-4}, x_{-3}, x_{-2}, x_{-1}, x_{0}$. Moreover, we deal with the periodic and eventually periodic solutions of related difference equation.

Eq.(1) be a member of the class of equations of the form

$$
\begin{equation*}
x_{n+1}=x_{n-k} x_{n-l}-1, n=0,1, \cdots, \tag{2}
\end{equation*}
$$

with special choices of $k$ and $l$, where $k, l \in \mathbb{N}_{0}$.

## 2. Periodic Solutions of Eq.(1)

In this chapter, we investigate the periodic solutions of Eq.(1).

Theorem 1 Eq.(1) has no two periodic solutions.

Proof. Let $\alpha, \beta$ be real numbers, $\alpha \neq \beta$ and for the sake of contradiction that there exist $\alpha$ and $\beta$, such that

$$
\cdots, \alpha, \beta, \alpha, \beta, \alpha, \cdots
$$

is a prime period two solution of Eq.(1). Thus, we have from Eq.(1) that

$$
\begin{align*}
& \beta=\beta \cdot \alpha-1,  \tag{3}\\
& \alpha=\alpha \cdot \beta-1 . \tag{4}
\end{align*}
$$

From (3) and (4), we get $\alpha=\beta=\bar{x}_{1}$ or $\alpha=\beta=\bar{x}_{2}$. This contradicts $\alpha \neq \beta$ and the proof is complete.

The next theorem shows that Eq.(1) has periodic solutions with prime period three.

Theorem 2 There are three periodic solutions of Eq.(1).

Proof. Let $\alpha, \beta, \gamma$ be real numbers such that at least two are different from each other. Assume that

$$
\cdots, \alpha, \beta, \gamma, \alpha, \beta, \gamma, \cdots
$$

is a periodic solution of Eq.(1) with prime period three. Then we obtain from Eq.(1) that

$$
\begin{align*}
& \alpha=\beta \cdot \gamma-1,  \tag{5}\\
& \beta=\gamma \cdot \alpha-1,  \tag{6}\\
& \gamma=\alpha \cdot \beta-1 . \tag{7}
\end{align*}
$$

From (5) - (7), we have five cases that

$$
\begin{align*}
& \alpha=0, \beta=-1, \gamma=-1,  \tag{8}\\
& \alpha=-1, \beta=0, \gamma=-1,  \tag{9}\\
& \alpha=-1, \beta=-1, \gamma=0,  \tag{10}\\
& \alpha=\beta=\gamma=\bar{x}_{1},  \tag{11}\\
& \alpha=\beta=\gamma=\bar{x}_{2} . \tag{12}
\end{align*}
$$

So, (8), (9) and (10) are periodic solutions of Eq.(1) with prime period three. But (11) and (12) are not three periodic solutions, because these are trivial solutions of Eq.(1). The proof is complete.

Remark 3 Eq.(1) has three periodic cycle as

$$
\cdots,-1,-1,0,-1,-1,0, \cdots
$$

Proof. Let the initial conditions $x_{-4}=-1, x_{-3}=-1, x_{-2}=0, x_{-1}=-1$ and $x_{0}=-1$ as Theorem 2. Therefore, we get from Eq.(1),

$$
\begin{aligned}
& x_{1}=x_{-3} x_{-4}-1=(-1) \cdot(-1)-1=0, \\
& x_{2}=x_{-2} x_{-3}-1=0 \cdot(-1)-1=-1, \\
& x_{3}=x_{-1} x_{-2}-1=(-1) \cdot 0-1=-1, \\
& x_{4}=x_{0} x_{-1}-1=(-1) \cdot(-1)-1=0 .
\end{aligned}
$$

The proof is complete as desired.
Theorem 4 Eq.(1) has eventually periodic solutions with period three. They have three forms:

Form 1: $\quad\left(\cdots, x_{N}, x_{N+1}, x_{N+2}, x_{N+3}, x_{N+4},-1,-1,0, \cdots\right)$, where $\quad N \geq-4$, $x_{N+1}=x_{N+4}=0$ and $x_{N+2} x_{N+3}=1$;

Form 2: $\quad\left(\cdots, x_{N}, x_{N+1}, x_{N+2}, x_{N+3}, x_{N+4},-1,0,-1, \cdots\right)$, where $\quad N \geq-4$, $x_{N}=x_{N+3}=0, x_{N+4}=-1$ and $x_{N+1} x_{N+2}=1$.

Proof. Form 1: Let $\left\{x_{n}\right\}_{n=-4}^{\infty}$ be eventually three periodic solutions of Eq.(1). Thus, for $N \geq-4, x_{N+5}=-1, x_{N+6}=-1, x_{N+7}=0$ and $x_{N+8}=-1$. Therefore,

$$
\begin{aligned}
& x_{N+5}=x_{N+1} x_{N}-1=-1, \\
& x_{N+6}=x_{N+2} x_{N+1}-1=-1, \\
& x_{N+7}=x_{N+3} x_{N+2}-1=0,
\end{aligned}
$$

$$
x_{N+8}=x_{N+4} x_{N+3}-1=-1,
$$

hence,

$$
\begin{align*}
& x_{N+1} x_{N}=0,  \tag{13}\\
& x_{N+2} x_{N+1}=0,  \tag{14}\\
& x_{N+3} x_{N+2}=1,  \tag{15}\\
& x_{N+4} x_{N+3}=0 . \tag{16}
\end{align*}
$$

Thus we have from (13)-(16),

$$
x_{N+1}=x_{N+4}=0 \operatorname{and} x_{N+2} x_{N+3}=1 .
$$

Form 2: Let $\left\{x_{n}\right\}_{n=-4}^{\infty}$ be eventually three periodic solutions of Eq.(1). Hence, for $N \geq-4, x_{N+5}=-1, x_{N+6}=0, x_{N+7}=-1$ and $x_{N+8}=-1$. Thus,

$$
\begin{aligned}
& x_{N+5}=x_{N+1} x_{N}-1=-1, \\
& x_{N+6}=x_{N+2} x_{N+1}-1=0, \\
& x_{N+7}=x_{N+3} x_{N+2}-1=-1, \\
& x_{N+8}=x_{N+4} x_{N+3}-1=-1,
\end{aligned}
$$

therefore,

$$
\begin{align*}
& x_{N+1} x_{N}=0,  \tag{17}\\
& x_{N+2} x_{N+1}=1,  \tag{18}\\
& x_{N+3} x_{N+2}=0,  \tag{19}\\
& x_{N+4} x_{N+3}=0 . \tag{20}
\end{align*}
$$

Thus we have from (17)-(20),

$$
x_{N}=x_{N+3}=0, x_{N+4}=-\operatorname{land} x_{N+1} x_{N+2}=1 .
$$

So, the proof is complete as desired.

## 3. On The Stability of Eq.(1)

Going throughout this chapter, we study the stability analysis of Eq.(1).
Lemma 5 Eq.(1) has two equilibriums as a golden number and its conjugate:

$$
\begin{equation*}
\bar{x}_{1,2}=\frac{1 \pm \sqrt{5}}{2} . \tag{21}
\end{equation*}
$$

Proof. Let $x_{n}=\bar{x}$ for all $n \geq-4$. Thus, we have from Eq.(1)

$$
\begin{align*}
& \bar{x}=\bar{x} \cdot \bar{x}-1  \tag{22}\\
& \bar{x}^{2}-\bar{x}-1=0 . \tag{23}
\end{align*}
$$

Therefore, from (23),

$$
\begin{aligned}
& \bar{x}_{1}=\frac{1+\sqrt{5}}{2} \\
& \bar{x}_{2}=\frac{1-\sqrt{5}}{2}
\end{aligned}
$$

Consequently, we get the two equilibrium points of Eq.(1) which are positive and negative respectively.

Lemma 6 Let $\bar{x}$ is a equilibrium point of Eq.(1). Then the linearized equation of Eq.(1) is

$$
\begin{equation*}
z_{n+1}-\bar{x} \cdot z_{n-3}-\bar{x} \cdot z_{n-4}=0 \tag{24}
\end{equation*}
$$

Proof. Let $I$ be some interval of real numbers and let

$$
f: I^{5} \rightarrow I
$$

be a continuously differentiable function such that $f$ is defined by

$$
f\left(x_{n}, x_{n-1}, x_{n-2}, x_{n-3}, x_{n-4}\right)=x_{n-3} x_{n-4}-1 .
$$

Therefore we get,

$$
\begin{aligned}
& q_{0}=\frac{\partial f}{\partial x_{n}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0, \\
& q_{1}=\frac{\partial f}{\partial x_{n-1}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0, \\
& q_{2}=\frac{\partial f}{\partial x_{n-2}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0,
\end{aligned}
$$

$$
\begin{aligned}
q_{3} & =\frac{\partial f}{\partial x_{n-3}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\left[x_{n-4}\right](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\bar{x}, \\
q_{4} & =\frac{\partial f}{\partial x_{n-4}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\left[x_{n-3}\right](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\bar{x} .
\end{aligned}
$$

Hence, the linearized equation associated with Eq.(1) about the equilibrium point $\bar{x}$ is

$$
z_{n+1}=q_{0} \cdot z_{n}+q_{1} \cdot z_{n-1}+q_{2} \cdot z_{n-2}+q_{3} \cdot z_{n-3}+q_{4} \cdot z_{n-4}
$$

then

$$
z_{n+1}-\bar{x} \cdot z_{n-3}-\bar{x} \cdot z_{n-4}=0
$$

The proof is complete as a result.

Lemma 7 The characteristic equation of Eq.(1) about its equilibrium point $\bar{x}$ is

$$
\begin{equation*}
\lambda^{5}-\bar{x} \cdot \lambda-\bar{x}=0 \tag{25}
\end{equation*}
$$

Proof. We have from linearized equation of Eq.(1) that

$$
\lambda^{5}-\bar{x} \cdot \lambda-\bar{x}=0
$$

Hereby, we endeavor the stability of equilibrium points of Eq.(1) which are positive and negative respectively.

Theorem 8 The positive equilibrium $\bar{x}_{1}=\frac{1+\sqrt{5}}{2}$ of Eq.(1) is unstable.
Proof. We consider (25) for $\bar{x}_{1}=\frac{1+\sqrt{5}}{2}$. Thus, we obtain five roots of (25):

$$
\begin{aligned}
& \lambda_{1} \approx 1.3007 \\
& \lambda_{2,3} \approx 0.18947 \pm 1.2090 i \\
& \lambda_{4,5} \approx-0.8398 \pm 0.35418 i
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
& \left|\lambda_{1}\right| \approx 1.3007>1 \\
& \left|\lambda_{2,3}\right| \approx 1.2238>1 \\
& \left|\lambda_{4,5}\right| \approx 0.91143<1
\end{aligned}
$$

Hence, we have

$$
\left|\lambda_{1}\right|>\left|\lambda_{2,3}\right|>1>\left|\lambda_{4,5}\right| .
$$

Consequently, the positive equilibrium $\bar{x}_{1}=\frac{1+\sqrt{5}}{2}$ of Eq.(1) is unstable.

Theorem 9 The negative equilibrium $\bar{x}_{2}=\frac{1-\sqrt{5}}{2}$ of Eq.(1) is unstable.

Proof. We consider (25) for $\bar{x}_{2}=\frac{1-\sqrt{5}}{2}$. Therefore, we get five roots of (25):

$$
\begin{aligned}
& \lambda_{1} \approx-0.70937, \\
& \lambda_{2,3} \approx 0.79105 \pm 0.66559 i \\
& \lambda_{4,5} \approx-0.43637 \pm 0.79042 i .
\end{aligned}
$$

Thus,

$$
\begin{aligned}
& \left|\lambda_{1}\right| \approx 0.70937<1, \\
& \left|\lambda_{2,3}\right| \approx 0.90287<1, \\
& \left|\lambda_{4,5}\right| \approx 1.0338>1 .
\end{aligned}
$$

Hence, we have that

$$
\left|\lambda_{1}\right|<\left|\lambda_{2,3}\right|<1<\left|\lambda_{4,5}\right| .
$$

After all, the negative equilibrium $\bar{x}_{2}=\frac{1-\sqrt{5}}{2}$ of Eq.(1) is unstable.

## 4. Numerical Examples

In this chapter, we present some figures for Eq.(1) so as to confirm the above theoretical results.

Example 10 If the initial conditions $x_{-4}=-1, x_{-3}=-1, x_{-2}=0, x_{-1}=-1$ and $x_{0}=-1$, the Eq.(1) has periodic solutions with period three. Furthermore, periodic cycle of solutions of Eq.(1) is

Figure 1 verify our theoretical results (see Theorem 2).


Figure 1. Eq.(1) with the given initial conditions has three periodic solutions.
Example 11 If the initial conditions $x_{-4}=\frac{65}{9}, x_{-3}=\frac{9}{5}, x_{-2}=\frac{20}{27}, x_{-1}=\frac{81}{10}$ and $x_{0}=\frac{2}{9}$, then Eq.(1) has eventually periodic solutions with period three. Figure 2 verify our theoretical results (see Theorem 4).


Figure 2. Eq.(1) with the given initial conditions has eventually three periodic solutions.

## References

[1] Agarwal, R. P., Popenda, J., Periodic solutions of first order linear difference equations, Mathl. Comput. Modelling, 22(1), 1119, 1995.
[2] Agarwal, R. P., Wong, P. J., Advanced topics in difference equations (Vol. 404), Springer Science \& Business Media, 2013.
[3] Camouzis, E., Ladas, G., Dynamics of third order rational difference equations with open problems and conjectures, volume 5 of Advances in Discrete Mathematics and Applications, Chapman \& Hall/CRC, Boca Raton, FL, 2008.
[4] Diblik, J., Feckan, M., Pospisil, M., Nonexistence of periodic solutions and Sasymptotically periodic solutions in fractional difference equations, Appl. Math. Comput., 257, 230-240, 2015.
[5] Elaydi, S., An Introduction to Difference Equations, Springer-Verlag, New York, 1996.
[6] Elaydi, S., Sacker, R. J., Global stability of periodic orbits of nonautonomous difference equations and population biology, J. Differential Equations, 208(1), 258-273, 2005.
[7] Elsayed, E. M., New method to obtain periodic solutions of period two and three of a rational difference equation, Nonlinear Dyn., 79(1), 241-250, 2015.
[8] El-metwallya, H., Grove, E. A., Ladas, G., Voulov, H. D., On the global attractivity and the periodic character of some difference equations, J. Difference Equ. Appl., 7(6), 837-850, 2001.
[9] Göcen, M., Güneysu, M., The global attractivity of some rational difference equations, J. Comput. Anal. Appl., 25(7), 1233-1243, 2018.
[10] Göcen, M., Cebeci, A., On the Periodic Solutions of Some Systems of Higher Order Difference Equations, Rocky Mountain J. Math., 48(3), 845-858, 2018.
[11] Grove, E. A., Ladas, G., Periodicities in nonlinear difference equations (Vol. 4). CRC Press, 2004.
[12] Gümüş, M., Global dynamics of a third-order rational difference equation, Karaelmas Science and Engineering Journal, 8(2), 585-589, 2018.
[13] Gümüş, M., Soykan, Y., Global character of a six-dimensional nonlinear system of difference equations, Discrete Dyn. Nat. Soc., 2016, 1-7, 2016.
[14] Karakostas, G., Asymptotic 2-periodic difference equations with diagonally self-invertible responses, J. Difference Equ. Appl., 6(3), 329-335, 2000.
[15] Kent, C. M., Kosmala, W., On the Nature of Solutions of the Difference Equation $x_{n+1}=x_{n} x_{n-3}-1$, International Journal of Nonlinear Analysis and Applications, 2(2), 24-43, 2011.
[16] Kent, C. M., Kosmala, W., Radin, M.A., Stevic, S., Solutions of the difference equation $x_{n+1}=x_{n} x_{n-1}-1$, Abstr. Appl. Anal., 2010, 1-13, 2010.
[17] Kent, C. M., Kosmala, W., Stevic, S., Long-term behavior of solutions of the difference equation $x_{n+1}=x_{n-1} x_{n-2}-1$, Abstr. Appl. Anal., 2010, 1-17, 2010.
[18] Kent, C. M., Kosmala, W., Stevic, S., On the difference equation $x_{n+1}=x_{n} x_{n-2}-1$, Abstr. Appl. Anal., 2011, 1-15, 2011.
[19] Liu, K., Li, P., Han, F., Zhong, W., Behavior of the Difference Equations $x_{n+1}=x_{n} x_{n-1}-1$, J. Comput. Anal. Appl., 22(1), 1361-1370, 2017.
[20] Okumuş, İ., Soykan, Y., On the Stability of a Nonlinear Difference Equation, Asian Journal of Mathematics and Computer Research, 17(2), 88-110, 2017.
[21] Okumuş, İ., Soykan, Y., Some Technique To Show The Boundedness Of Rational Difference Equations, Journal of Progressive Research in Mathematics, 13(2), 2246-2258, 2018.
[22] Okumuş, İ., Soykan, Y., Dynamical Behavior of a System of ThreeDimensional Nonlinear Difference Equations, Adv. Difference Equ., 2018(223), 1-15, 2018.
[23] Stevic, S., Asymptotics of some classes of higher-order difference equations, Discrete Dyn. Nat. Soc., 1-20, 2007.
[24] Stevic, S., Diblik, J. B., Iricanin, Z., Smarda, Z., Solvability of nonlinear difference equations of fourth order, Electron. J. Differential Equations, 264, 1-14, 2014.
[25] Taşdemir, E., Soykan, Y., On the Periodicies of the Difference Equation $x_{n+1}=x_{n} x_{n-1}+\alpha$, Karaelmas Science and Engineering Journal, 6(2), 329-333, 2016.
[26] Taşdemir, E., Soykan, Y., Long-Term Behavior of Solutions of the NonLinear Difference Equation $x_{n+1}=x_{n-1} x_{n-3}$, , Gen. Math. Notes, 38(1), 13-31, 2017.
[27] Taşdemir, E., Soykan, Y., Stability of Negative Equilibrium of a Non-Linear Difference Equation, J. Math. Sci. Adv. Appl., 49(1), 51-57, 2018.
[28] Taşdemir, E., Soykan, Y., Dynamical Analysis of a Non-Linear Difference Equation, J. Comput. Anal. Appl., 26(2), 288-301, 2019.
[29] Wang, Y., Luo, Y., Lu, Z., Convergence of solutions of $x_{n+1}=x_{n} x_{n-1}-1$, Appl. Math. E-Notes, 12, 153-157, 2012.


[^0]:    * Corresponding Author

    Received: 26 June 2018

